ELCLE 2240 HOMEWORK #11 prob 3 solution U
N. Cotter

EX: Using algebraic simplification and a table of Laplace transform pairs, find the

Laplace transform of each of the following functions:
a)  f(t)=3¢D

b) f(¢t)=cos(2xt+30°)

c) f()y=4+t

SOL'N: a)

ft)=3¢"0D =3¢.¢7"

L3¢} =3eL{e =
s+1

SOL'N: b)

f(t)=cos(2mt +30°) = cos(2mt) cos(30°) — sin(2 7t ) sin(30°)

L{cos(2mt)cos(30°)—sin(27¢)sin(30°)}
=c0s(30°) L{cos(2mr)} —sin(30°) L{sin(27¢)}
V3o 1 2n

2 ¢21en? 252 +en)?

SOL'N: ¢)

S2

LA+ =4L{u(t)}+ L{t} = 4 + L
S



